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Subject Code : 103 v

Q Answer

Subject .
Exam Date Questions Key

Code Id

Patanjali is well known for the compilation of

(A) Yoga Sutra
103 14-12-2021 211 (B) Panchatantra (A)
(C) Brahma Sutra
(D) Ayurveda
Piece of land surrounded by water on 3 sides is
known as
(A) Strait
103 14-12-2021 212 (B) Lagoon ©
(C) Peninsula
(D) Bay
The famous UNESCO heritage site, Robben Island
served as the political prison of which of the
following leaders?
(A) Nelson Mandela
103 14-12-2021 213 (A)
(B) Aung San Suu Kyi
(C) Martin Luther King Jr.
(D) Ho Chi Minh
103 14-12-2021 214 Which central agency regulates and monitors (A)
housing sector in India?
(A) RERA
(B) RBI
(C) LIC

(D) SEBI
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Raj Ghat is the memorial of
(A) Indira Gandhi

103 14-12-2021 215 (B) Rajiv Gandhi ©)
(C) Mahatma Gandhi

(D) Jawaharlal Nehru

Complete the sentence: It was to think that it
could possibly snow in the middle of the desert.

(A) advantageous
103 14-12-2021 216 (B) philosophical (D)
(C) eroding
(D) preposterous
Choose the correct meaning of proverb/idiom : To
keeps one's temper
(A) To become hungry
103 14-12-2021 217 (B) To be in good mood (B)
(C) To preserve ones energy
(D) To be aloof from
In a certain code, TRIPPLE is written as
SQHOOKD. How is DISPOSE written in that code?
(A) CHRONRD
103 14-12-2021 218 (B) DSOESPI (A)
(C) ESJITPTF
(D) ESOPSID
103 14-12-2021 219 Choose the correct synonym of the given word: (D)
Mitigate

(A) Send on a mission

(B) Pardon
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(C) Soften

(D) To heal

Choose the correct word: A remedy for all disease
(A) Misogyny
103 14-12-2021 220 (B) Harangue (©
(C) Panacea
(D) Credulous
Which of the following will not be a number of the
series 1, 8, 27, 64, 125,.....7
(A) 256
103 14-12-2021 221 (B) 512 (A)
(C) 729
(D) 1000
Introducing Suraj, a woman said, ”His wife is the
only girl child of my father.” How is Suraj related to
that woman?
(A) Husband
103 14-12-2021 222 (A)
(B) Father-in-law
(C) Uncle
(D) Grandfather
Rahul put his timepiece on the table in such a way
that at 6 P.M. hour hand points to North. In which
direction the minute hand will point at 9.15 P.M. ?
(A) South-East
103 14-12-2021 223 (D)
(B) South
(C) North

(D) West
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Flow : River :: Stagnant : ?
(A) Rain

(B) Stream

(C) Pool

(D) Canal

Find the one which does not belong to that group ?
(A) 343

(B) 121

(C) 1331

(D) 2197

The sum of three consecutive numbers is 87. The
middle number is :

(A) 30

(B) 28

(C) 27

(D) 29

The sum of two numbers is 29 and the difference of
their squares is 145. The difference between the
numbers is

(A) 13

(B)8

©) 11

D)5

A goods train runs at the speed of 72 kmph and
crosses a 250 m long platform in 26 seconds. What is

the length of the goods train?

(A)230 m

202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGluZGVjZW1iZXI

©

(B)

(D)

(B)

(D)

4/9



1/13/22, 11:21 AM 202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGluZGVjZW1izZXI
(B) 240 m

(C) 260 m
(D) 270 m
Three number are in the ratio of 3 : 4 : 5 and their
L.C.M. is 2400. Their H.C.F. is:
(A) 40

103 14-12-2021 229 (B) 80 (A)
(©) 120
(D) 200
The ratio of numbers of girls and boys participating
in sports of a school is 4:5. If the number of girls is
212, determine the number of boys participating in

the sports.

(A) 256

103 14-12-2021 230 (B)

(B) 265
(C) 251

(D) 263

Expand PPE
(A) Person Protective Equipment

103 14-12-2021 231 (B) Protective Personal Environment ©)
(C) Personal Protective Equipment

(D) People Personal Environment

The primary objective of Financial Accounting is to
(A) satisfy statutory requirements

103 14-12-2021 232 (B) reveal the profits and losses of a business (B)
(C) increase the share price of the business

(D) enhance perceived image of business
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103 14-12-2021 233 Expand GAAP (©)

(A) Generally Accepted Accounting Phrases
(B) Generally Accepted Auditing Principles
(C) Generally Accepted Accounting Principles

(D) Generally Accepted Auditing Phrases

As per Ind As Investments, Trade
Receivables,Loans, Cash and Cash equvalents are
clubbed under the head
(A) Financial Receivables
103 14-12-2021 234 ©)
(B) Other Current Assets
(C) Financial Assets

(D) Other Financial Current Assets

As per Ind As, Shareholder's Fund has been renamed
as

(A) Equity
103 14-12-2021 235 (B) Own Capital “
(C) Owned Capital

(D) Other Financial Assets

Expand FVTOCI

(A) Fair value through other Comprehensive
Investments

103 14-12-2021 236 (B) Fair value through other Current Investments D)

(C) Fair value through other Cash Income

(D) Fair value through other Comprehensive Income

103 14-12-2021 237 Expand TCI (A)
(A) Total Comprehensive Income

(B) Total Current Investments
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(C) Total Current Income

(D) None of these

Maximum amount of Gratuity exempt from income
tax is

(A) 10 lakhs
(B) 12 lakhs
(C) 15 lakhs

(D) 20 lakhs

Keyboard shortcut to edit a cell in Excel

(A)F5

(B) F4

(C)F3

(D) F2

The option to password protect an Excel Sheet can
be found in the tab

(A) HOME

(B) INSERT

(C) DATA

(D) REVIEW

What is super profit?

(A) Capital employed — Average capital employed
(B) Normal profit

(C) Actual profit — Normal profit

(D) Capitalized value of profit — Intangible Assets

What are the taxes levied on an intra-State Supply

(A) IGST
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103 14-12-2021 243
103 14-12-2021 244
103 14-12-2021 245
103 14-12-2021 246
103 14-12-2021 247

(B) CGST
(C) SGST

(D) CGST and SGST

How many digits HSN code is required to be
mentioned in the tax invoice by a registered person if
his annual turnover is below < 1.5 crores in the
preceding financial year

(A) No HSN required

(B) 2 digits HSN code

(C) 4 digits HSN code

(D) 5 digits HSN code

Bill of Exchange involves:
(A) Drawer

(B) Drawee

(C) Payee

(D) All of these

Threat to Computerized accounting system are-
(A) Control

(B) Security

(C) Integrity

(D) All of these

AS-7 is related to

(A) Revenue Recognition

(B) Property, Plant and Equipment
(C) Construction Contracts

(D) Valuation of Inventories

Accounting Standards in India are issued by
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(A) Government of India
(B) Reserve Bank of India
(C) The Institute of chartered accountants of India
(D) The Institute of accounting Standards of India
Which of the following is not a fundamental
accounting assumption
(A) Going concern
103 14-12-2021 248 (B) Consistency (D)
(C) Accrual
(D) Materiality
The outflow of funds to accquire an asset that will
benefit the business for more than one accounting
period
(A) Miscellaneous expenditure
103 14-12-2021 249 ©
(B) Revenue expenditure
(C) Capital expenditure
(D) Deferred revenue expenditure
GST is payable by the recepient under reverse charge
on
(A) Sponsorship sevices
103 14-12-2021 250 (B) Transport of goods by rail (A)

(C) Transport of passengers by air

(D) All of these
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